
 

 9 : 50   8  

 
 
 
 

 
 
 
 

 
 

 
 
 

 
 
 

             
 

          

12 
10

20   1
 10

2 1030   21  

33 
10

50   31
 10

   4
10   60   51  
1070   61  

5 
10

90   71
 10

 

1402 4
 

      

 

1 -
 

 

 
 

 

(2  ) 1  

      
13 

(  )       

18   

http://forum.konkur.in/
http://konkur.in/


 
«1402  4» 

  
 110 :       

 9 : 50   8  
 

 90 :   
(   40 +   50)

 

   

2 101 -20 10
 1021 -30

3 10
 31 -50  10

  51 -60  10  
10            61 -70  

 10
 71 -90  10

 
 

  
  2      -     -     -     -  -  -  -  

  -   -   -   -   -  
  -     -     -      -   -   -  

 

      -      -    -  -  -  -  
  -  -  -  -  -  

 

  

 2 
  

 
 
 

 
   

  
 

 
 

  

      
        

 
   

 

  
  

  :    :  
 -  -  :

  
  

 

 
«  »    

:         923   9236463   ::021021--6463

http://forum.konkur.in/
http://konkur.in/


3    1402  4  -(5) 

 

 

 . 1 = 1 = 2  :        -1
2 2

21
120

1→

−
=

−
    = 1   

15 (130 (2 60 (3 120 (4 

  .          -2  = 1   =

(13
4

(23
32

(33
16

(43
8

2         .       =   =       -332 +

      -3  =

2 (1

3 (2

4 (3

5 (4

  ′ 2 + ′′    .   = −   -4

−1 1  (1(2   2 2
2 22  (3   −− 2−2 2  (4   

 -52 ′′           =

(16
π−(2 4

3
π(3 5

2
π(4 7

6
π

.          

 15 :          101  90  : :2

http://forum.konkur.in/
http://konkur.in/


4    1402  4  -(5) 

    -6
2 1
2 1

+
=

+
0 12      = 4         

(15
3(2 14

27

(311
3(4 8

27

3    -73
2 1

3 1
+ +

=
−

  = 3   

(13
2−(2 9

2

-3 (3(4 2
3−

2   -82  ′ 1 ′ −1     = 2   = 2 2 − − 2 1+

(13
2(2 3

2−

(32
3(4 2

3−

    -9
3 2 11

1

− +
−=
− −

   )          = −1   

(.  

-2 (1(2 1
2−

(33
2−(4 5

4−

     .   = 2 + 3 + 2 3 + 6      5  -3      = −4 + 3  -10

  = −3  

3 (1-3 (2 

-2 (32 (4 

http://forum.konkur.in/
http://konkur.in/


5    1402  4  -(5) 

 

 
    = 2 −   -11

4 (13 (2 

2 (31 (4 

                 .         -12

4  4 (1

3  4 (2

3  3 (3

4  3 (4

2 -13
1 2 2

− ≤

− − >
=      .     

 (11 (2 

2 (33 (4 

-1 (1

 = 3 − +1       -14

(2 1
3−

 (31 (4 

 -152
1
1

+
=

+
−1 2      

 (1        (2 

     (4           (3

.    (  )                

 15 :            126  102 :   + : 2

http://forum.konkur.in/
http://konkur.in/


6    1402  4  -(5) 

5 -164        = − +1        =

(113
12  −(2 9

8  −

(313
12  −(4 9

8  −

.   = − 2                -17

             

(132
27(2 

4 − 2 2  (3

64
27

4 + 2 2  (4 

2           -1843 3 10 320         .   = − −

 

4 (13 (2 

2 (31 (4 

 = − 2    -19

2 (1(2 9
8−

-1 (3 (4 

8  = 2 − 2         -209 2      .  

(14
27(2 8

9

(38
27(4 4

9

http://forum.konkur.in/
http://konkur.in/


7    1402  4  -(5) 

 
  = 3 −1 − 2   -21

2 + ∞  (1−2 + ∞  (2 
1 + ∞  (30 + ∞  (4 

  .          -222+  =

−2 + ∞ − 2  (1
−∞ 2 − −2  (2

−2 2  (3
2 + ∞  (4

  .                -23   

(1(2 (3 (4 

(.     )     .  −   2 + = 1    -24

 (1−2 5 (2 

−2 15  (4 −3 10  (3
2  -2510

+            .       = + 3     =

  
2 −11 = 0  (12 +11 = 0 (2 
11 + 2 = 0 (311 − 2 = 0  (4 

 15 :         90  37  :     :1  / 117  94  :  :1  :

http://forum.konkur.in/
http://konkur.in/


8    1402  4  -(5) 

≥ 0  (1= +1 −1≥ 0  (2 

  +     .  = 2 +   = 2 −   -26

= +1 +1

≥ −1  (3= +1 −1≥ −1  (4 = +1 +1

  −          .            -27

1  (1

(21
2

(33
2

2  (4

 = 3 − + 2   -283 2
2

+=
−

       −1    .   

4 (13 (2 

2 (31 (4 

   4 5 −1 +2 − 2 = 1   -29

4 (13 (2 

2 (31 (4 

2    -30

4 (1

  2 5 + 8 = 4

3 (2 

2 (31 (4 

x

g

y

1

-2

x

f

y

2

-1

http://forum.konkur.in/
http://konkur.in/


9    1402  4   -(5)  

 

 
      =   .                   -31

                      

 

4 (1

6 (2

8 (3

4 2  (4

                 2 2 + 3 − 8 − 5 = 0       -32

               .  

(19
16

(29
4

(33
16

(43
4

       7       .               -33

              .      9    

17/1 (1

16/2 (2

15/3 (3

14/4 (4

.          

  )      :3 15 :     63  54  :( 3

http://forum.konkur.in/
http://konkur.in/


10    1402  4   -(5)  

      .  2 = 4         3 − 4 = 3      -34

 

= 9  (1= 9  (2 = 6  (3 = 6  (4 

         .  6 − 3   3 3  2 1      -35

         .             

4/5 (14 (2 2/5 (3 2 (4 

= 4 + 2          -36 = −1       2 +

8 (110 (2 12 (3 15 (4 

 .          2 − 6 + 8 +1 = 0       −1 α   -37

 π      

25 (120 (2 16 (3 12 (4 

    ≥ 3   2 + 2 + 4 ≤ 2 + 3     -38

π − 2  (12π − 4  (2 π −1 (3 2π − 2  (4 

  = ∈ + ≤ 3 1 < < 2    -39

3 (13/5 (2 2/5 (3 2 (4 

       .    14         -40

2 + 3 = 23  (1

3 + 2 = 17  (2

3 + 4 = 32  (3

4 + 3 = 31  (4

http://forum.konkur.in/
http://konkur.in/


11    1402  4   -(5)  

 

 

     3   -412 1 0
1 4 3

= − = − =
= = =

    .    

5 (1

            

43  (2 

34  (34 2  (4 

 -421  2
5

=
=

 2  1
7

= −
=

    .         

8 (19 (2 

25 (349 (4 

        -431

1
0 5
1 4

=
≤ ≤
≤ ≤

 2

5
0 5
1 4

=
≤ ≤
≤ ≤

     .  

    

(1
5

1 5
1 4

=
≤ ≤
≤ ≤

(2 
0

4 5
0 1

=
≤ ≤
≤ ≤

(3 
5

0 5
1 4

=
≤ ≤
≤ ≤

(4 

5
2

0 5
1 4

=

≤ ≤
≤ ≤

.    (  )                

 15 :    76  64  : :3

http://forum.konkur.in/
http://konkur.in/


12    1402  4   -(5)  

          .    0 1 1   1 0 1  1 1 0   -44

(13
2(2 1

2

(36
23  (4 

     4 2 1  2 2 3   -453
4=           

(13
5(2 4

3

(34
5(4 5

3

+ + = 7 − 4 −   −2 0 1   0 2 1  1 −1 2          -46 

 

−2 1 −1  (13 0 1  (2 

2 −1 1  (3−3 0 −1  (4 

− = −          -47           .   

 (1

(.     ) .      

 (2 

 (3 (4 

http://forum.konkur.in/
http://konkur.in/


13    1402  4   -(5)  

2            3 2 3   2 1 1  α α −1 2    -48  

14  (17  (2 

6  (4 2 3  (3

1     -492
= −
=

1     1
=′
=

   = − 2 + 3      .  

         

(123
8(2 23

16

(319
16(4 19

8

 -50  2 + 2                  27  

  −      

63 (1126 (2 

58/5 (3117 (4 

http://forum.konkur.in/
http://konkur.in/


14    1402  4   -(5)  

 

 
         .    %15      15      -51

   
.   -   (1.   -   (2 

  -   (3.   -   (4 

6 3     -52      4  1 2 4 5 5 6

3 (12/5 (2 
2 (31/5 (4 

         .       72       -53

        400        

(11
12

(21
8

(37
36

(41
9

       .        20      -54

156 (1
168 (2
171 (3
173 (4

: 
.          (70 61) (60 51)      :  

 15 :      100  73  :   :   

10 12 12 14 14 16 16 18 18 20
9 20 23
− − − − −¾Twj j»ke

Âº H»HoÎ

http://forum.konkur.in/
http://konkur.in/


15    1402  4   -(5)  

   12        .    24     21    -55

16                .   21      

     .  
24/1 (125/3 (2 

25/1 (323/9 (4 

1 2 2 3 4 5 7 10 15 17     -56     1
(1(2 

(3(4 

4     .  11/5    .                -57

  
2 (15 (2 

4 (33 (4 

20     -581 20/1       .        

     
100 (1120 (2 150 (3 200 (4 

      -59           3    1 2

  5 1 + 5 2 + 5 +

1/5 (12 (2 2/25 (3 2/5 (4 

             -60

1 (1

2 (2

3 (3

 (4

1 2 3 4
1 2 3 4

12 16
2 3

½jHj

Âº H»HoÎ

2 3 2
3 4 5 6

http://forum.konkur.in/
http://konkur.in/


16    1402  4   -(5)  

 

 
           3       = 1 2 3 4 5 6  -61

 

18 (125 (2 

32 (327 (4 

9                     -62

 

256 (1280 (2 

320 (3336 (4 

∨  (1

      -63

∧  (2 

∧  (3∨  (4 

         .         -64

∀ ∈ ∈  (1

= 2 +1 ∈ ≤ 4    = ∈ − 5 ≤ 4

∀ ∈ ∈  (2 

∃ ∈ ∈  (3∀ ∈ ∈  (4 

   × − ×         = 2 7 8  = 1 2 5 7 8   -65

20 (115 (2 

12 (310 (4 

: 
.          (70 61) (60 51)      :  

 15 :       38  1  :     :   

http://forum.konkur.in/
http://konkur.in/


17    1402  4   -(5)  

−  (1

  − ′     -66

−  (2 

′  (3′  (4 

≠         ′ = ′           -67

=  (1′ = ′  (2 

′ ′ − = ∅  (3′ =  (4 

    .    31  ′ − ′     1024   ′ ′ ′   -68

   

45 (136 (2 

21 (310 (4 

  (1

   ∧ ∨ ∧ ∧   -69

  (2 

∨  (3∧  (4 

   + +       × = ×   = 3   = 2 −1 1      -70

   

3 (14 (2 

5 (36 (4 

http://forum.konkur.in/
http://konkur.in/


18    1402  4   -(5)  

 
 

 
2 9   -71                     1

168 (1

             

80 (2 

126 (340 (4 

                          -72

   

96 (190 (2 

84 (376 (4 

 11         10          5   -73

220 (1240 (2 

236 (3192 (4 

                 8     -74  2 

2520 (16500 (2 

2285 (33740 (4 

    (     )       5         4  -75

         .             

300 (1600 (2 

360 (3420 (4 

.          

 15 :      140  118  :   :1 / 59  56  :(58      )  :  

http://forum.konkur.in/
http://konkur.in/


19    1402  4   -(5)  

                  2

720 (1

4 6 7 8 9    -76

(.    )        

960 (2 

240 (3480 (4 

3 3 4    -77            7   1 1 2 2

90 (160 (2 

180 (3120 (4 

                         4    -78

              

12 (124 (2 

36 (348 (4 

                5      -79

56 (165 (2 

60 (348 (4 

                     -80

84 (196 (2 

100 (3112 (4 

http://forum.konkur.in/
http://konkur.in/


20    1402  4   -(5)  

 

 
 

    3                18     -81

12 (18 (2 

6 (35 (4 

         (    )   .       -82

3 - 2 (1

4 - 2 (2

3 - 12 (3

4 - 12 (4

 3 → 3   1 → 2 »            3 1 2       3 × 3       -83

                   .  « 2 → 1

.     (1

    .  « 3 → 3  2 → 1  1 → 2 » 

.     (2 

.     (3.     (4 

.    (  )                

 15 :      72  59  :  :  

1 3
1 2

1
4

= =

http://forum.konkur.in/
http://konkur.in/


21    1402  4   -(5)  

       .  511 × 312             -84

2475 (13630 (2 

5148 (37098 (4 

 8           5    -85

45 (110 (2 

55 (330 (4 

               + + = 10   -86

15 (128 (2 

45 (321 (4 

3  -87

36 (1

       61 ≤ 1 + 2 + 3 ≤ 1000

66 (2 

90 (3119 (4 

http://forum.konkur.in/
http://konkur.in/


22    1402  4   -(5)  

-88
2 3

1
 =

2

1
          =

>  (1=  (2 

<  (3= +  (4 

  + +        -89

6 (1

7 (2

8 (3

9 (4

                     

              3     3    3   3   -90

.       

                    

2 (1

    1       3

4 (2 

6 (312 (4 

2

2

1 2+

1 2 3

2 3 1
3 1 2
1 2 3

o¬nI¨ o¬nI¨ o¬nI¨

¾L¹{

¾L¹z§Ä

¾L¹{»j

http://forum.konkur.in/
http://konkur.in/


http://forum.konkur.in/
http://konkur.in/


 
 

 11   9 : 50   

 
 
 
 

 
 
 
 

 
 

 
 
 

 
 
 

             
 

          

13 
10

110   91
 10

   2
10   2 120   111  
10   1 130   121  

33 
10

150   131
 10

   4
10   2 160   151  
10  1170   161  

 

1402 4
 

      

 

2 -
 

 

 
 

 

(2  ) 2  

http://forum.konkur.in/
http://konkur.in/


«1402  4» 
  

 70 :       
 11   9 : 50   

 

 80 :   
(   40 +   40)

 

   

3 10
 91 -110  10

 2111 -120  10
10    1121 -130  

3 10
 131 -150  10

 2151 -160  10
10    1161 -170  

 

  
  -   -   -   -   -   -  

  -   -   -   -   -    -  
   -  

  -   -   -   -   -   -  
  -   -   -   -  

 
  

 
    

  
 

  
 

 

  
 

  
 

 

 
 
 

 
 

    

     

 
   

 

  
  

  :    :  
 -  -  -  :

  
  

 

 
«  »    

:         923   9236463   ::021021--6463

http://forum.konkur.in/
http://konkur.in/


3    1402  4   -(5)  

 

 
.     = 14 8         100             -91

(.   (1)     )               

      -92

.      80  (1
.      80  (2

.      40  (3
.      40  (4

20  

                      

     .              

340  =R¼Å

680 (1288 (2 170 (3 340 (4 

2      -931                       
   30

  300  (1
  300  (2
  150  (3
  150  (4

         .              -94
(.        )  

(1(2 

(3(4 

.          

 15 :    102  89  :  :3

http://forum.konkur.in/
http://konkur.in/


4    1402  4   -(5)  

(2   )    .  (2)   (1)            -95

( 530 = 0 8   370 = 0 6 )   
1/6 (1

1/5 (2

1/8 (3

1/2 (4

40  (2   )       .      (1)        -96

  (4 )       20  (3)        (1)      

4  
1

  

(13
7

(27
3

(316
21

(421
16

 3 5      ′      .               -97

( 3 1 7   2 1 4 )      

2  (1

2 (2

3  (3

3 (4

http://forum.konkur.in/
http://konkur.in/


5    1402  4   -(5)  

        .  (2)     (1)          -98

1               
2

)   2
5 26( 370 = 0 6   =

(125 248

(225 348

(33 34

(43 24

       -99

.                (

                        (

.   

.            (

           450                 (

.         

1 (12 (2 

3 (34 (4 

           -100

             (1λ.      

.             (2

.                    (3

.             (4

http://forum.konkur.in/
http://konkur.in/


6    1402  4   -(5)  

 

 
                 -101

     (2
λ      4

λ.  

.             (
.                 (

.             (
1 (12 (2 3 (3 4 (4 

      .                -102

(.   (2)    )             
 -15 (1
 -15 (2
 -24 (3
 -24 (4

       -103

.             (
.                     (

                     (
.     

.                    (
.                           (

 (11 (2 2 (3 3 (4 

0        λ     -104       .        
(.          )          

2 0  (1− λ2 0  (2 + λ2 0  (3 − λ
λ

2 0  (4 + λ
λ

.    (  )                

 15 :    136  103 :     -  :3

http://forum.konkur.in/
http://konkur.in/


7    1402  4   -(5)  

1            -1054 3      .       
          

(111
3(2 3

11(3 13
3(4 3

13
       ′ = 5       ′ = 1       -106
        ′ = 4       ′ = 2     

  

(125
16(2 25

4(3 1
100(4 

32×10−19       ′          -107

4
25

     .   16

1 6 10 19 )  ′   −= 13 6   = ×(

(116
9(2 4

34 (3 2 (4 

 3 06 ×1014             .          -108
                  .    

= 13 5 )      4 10 15   −( = ×

21 (17 (2 6 (3 4 (4 
      -109

.             (
.                   (

.          ′ = 3    (
.   ′ = 2          ′ = 1         (

   (4    (3  (2  (1
      -110

1 (12 (2 3 (3 

.       (
.    2+        (

.                (
.          (

.             (
.                 (

4 (4 

http://forum.konkur.in/
http://konkur.in/


8    1402  4   -(5)  

 

    (3)  (2)   .              -111

               

 -  (1

 -  (2

 -  (3

 -  (4

       -112

.                      (

.              (

.            (

.               (

4 (4 3 (3 2 (2 1 (1

103      −2     2      -113       

    .   0 1                

10   =

  110 (1

  100 (2

  100 (3

  110 (4

: 
.           (130 121) 1  (120 111) 2    :  

 15 :    108  83  : :2

http://forum.konkur.in/
http://konkur.in/


9    1402  4   -(5)  

 .                        -114
                         2    

22 5         θ        θ  )      

  210(. =

  40% (4     40% (3     60% (2     60% (1
 10       .   400            -115

               
8 10 2  (1−  ×

  16 ×10−2  (2

  8×10−2  (3

  16 ×10−2  (4
.                        -116

    3   5      (2)    (3)  (1)      
    (2)   1

8×10−5  (1

5    
−4

+4 8×10−5  (2

−1 2×10−5  (3

+1 2×10−5  (4
           .             -117

                

)11200= 1800= 7  0 12 10−( μ = ×

450   5 76 2 ×10−3  (1

900   1 151×10−3  (2

450   57 6 2  (3

900   11/52 (4

http://forum.konkur.in/
http://konkur.in/


10    1402  4   -(5)  

 10           .   250    9         -118

              .  1        

          10   

= 2×10−8 Ω )ρ u¶
7  0 12 5 10−(.           π = 3 14   μ = ×

5 (110 (2 

5 10 4  (3−×10 3  (4 −

      (1)       .             -119

          (5)  (4)       (2)    

(.          ) .     (1) 

  (1

   (2

   (3

   (4

      -120

.      (

.             (

.          (

.             (

1 (12 (2 3 (3 4 (4 

http://forum.konkur.in/
http://konkur.in/


11    1402  4   -(5)  

 

     4        .    18        -121

          
206/6 (1185 (2 152/6 (3 340 (4 

 .   260   −40                   -122

                
3   560  (16   240  (2   286305   560  (4   373   240  (3   269

     .    0 9               -123

          
0/6 (10/9 (2 0/3 (3 0/5 (4 

        -1243924   950    100      .    

= 7 ×10−4 −1 )

         .   10−5 3

β ¸ü»n02 1= ¸ü»n04 2=( JA

29 (126 (2 24 (3 28 (4 
1           -1252

3         =4    =

                         .
     

(14
3 8

3
3 (2 4 2

3
4 (3 3 2

3
3 (4 4 8

3
       .  1200     50              -126

             80  

4200       )= JA336000   =840  =

15 (118/75 (2 75 (3 

( q±Î

100 (4 

: 
.           (130 121) 1  (120 111) 2    :  

 15 :    126  83  :   :1

http://forum.konkur.in/
http://konkur.in/


12    1402  4   -(5)  

  10         .    2      4      -127

3  .   600   4            

)     0900 =04200=     JA03000(.  

2000 (1120000 (2 
2 (3120 (4 

.     100             21  1000    10  -128

)        04200= JA336   =2268  =(

5/804 (16/704 (2 
6/804 (35/704 (4 

      -129

.              (
.                 (

.             (
.                        (

1 (12 (2 3 (3 4 (4 

 4050        .                  -130

 )          .   2        

 0 = 77        2  36 8ρ = ÍÄI¶313 6ρ =( ½¼Ã]

-125/5 (1
-121/5 (2
-117/5 (3
-123/5 (4

http://forum.konkur.in/
http://konkur.in/


13    1402  4   -(5)  

 

 
        -131

.                  (

.                (

.               (

.                   (

  (2   (1

   (3   (4 

      -132

.                       

.                 

.                

.             

4 (13 (2  

2 (31 (4 

.          

 10 :    96  87  :       +        :3

http://forum.konkur.in/
http://konkur.in/


14    1402  4   -(5)  

        .                -133

.               (1
.             (2

.  > 7           (3
.  4   12   6                  (4

       8         -134
                 (

.    4 
.  -1           6    (

.    15        -3     (
2                 5     (3.  

1 (12 (2 
3 (34 (4 

)                -13526 22   ) ((.      
    (  (  

   (        (  
 (    (  

  (    (
    (

3 (15 (2 4 (3 6 (4 
      -136

.            (
.          (

.                  (
                 (

.  
.              (

4 (4 3 (3 2 (2 1 (1

http://forum.konkur.in/
http://konkur.in/


15    1402  4   -(5)  

       .                -137
                    

=  (1
−  (2
−  (3
≡  (4

                    -138
    

    -   -   (1
  -   -    (2

  -   -   (3
    -   -    (4

      -13922  
.                   

.                     
.          

.          2+    
3 (11 (2  (3 2 (4 

          -140
.     (    .      (

.       (  .       (
.        (

1 (12 (2 3 (3 4 (4 

11700 2900 3500 2100 −

= − − ≡ kº ¼ÃQ  Ì¼º

k¹¨ Â¶ Jm] ¾¨  Â]¼¶ uº I¨oÎ

n¼Lø kÅnj

http://forum.konkur.in/
http://konkur.in/


16    1402  4   -(5)  

3   4  -1412   2  2   3  

−

2 3 2 + 3 2       400        
             8       .  

2 2                     .  
60 5  -  (11 27  -  (2 

1 27  -  (360 5  -  (4 
         -142

2 2 + 2 2 3

5 3 2+

2 + 2 2
.                   (1

3                  (2.   
2               (3.   

                         (4
.  

             200  -1432  3  +

                75     .  
(.       )           

12 16 40 1−= = =

62/7 - 1/5 (167/2  1/5 (2 
62/7  0/75 (367/2  0/75 (4 

2     .          .   (1)   2 4 2 2  -144 
          .      )       

( 292 ≅ 17
5/5 (1

1/375 (2
1/875 (3

7/5 (4

.    (  )                
 10 :    113  103 :      :3

http://forum.konkur.in/
http://konkur.in/


17    1402  4   -(5)  

    -145

.                          (1
.                      (2

.                      (3
   ...                 (4

.     

                        -146

2 2 + 2 2 3    (.    )     .  
.           (1

10           (2
.      

2    (32      
.      

  (2)       (4

282 2 1−.  

   .          4         6    5  -147

           %80      
2 + 3 2 2 3 + 3 2

15 625 10 3  (1−×6 25 10 2  (2 −×

16 (364 (4 

      -148

2 2         (

.     4 6 ×103   2 4×102     4370   6370          (
.          28       (

.          2 4

.     >                  (
1 (12 (2 
3 (34 (4 

33
2

2

0 83

3
2
2

0 68
0 32
0 16

http://forum.konkur.in/
http://konkur.in/


18    1402  4   -(5)  

                    1/8        -149

    1/25       .   0 9     .   

2     4   2       50   .       .   

        .   0 8              

4 + 2 + 3 2

1 6 ×10−3  (2 3 2×10−3  (1

4 8 10−3  (3×2 4 10−3  (4 ×

     2    5     Δ < 0  2 2 + 2 2 3     -150

    

3   (2     2   .   

.            (

.            (

.              (

3    (2       2   

1 (1

.   

2 (2 

3 (34 (4 

http://forum.konkur.in/
http://konkur.in/


19    1402  4   -(5)  

 

      -151
.           

.             
.                 

.                 
3 (4 2 (3 1 (2  (1

               -152
             (1

           (2
              (3

            (4
2      -153     .    2 + 3 2 → 2 3       

= 1 = 14 −1       
.             (

.     1 6 ×10−2       2/5       (
.      2/53      200   (

3          (2    
3 2

2
3.   =

2    -     (.          
5 (1
4 (2
3 (3
2 (4

: 
.           (170 161) 1  (160 151) 2    :  

 10 :    96  75  :     :2

0 05

0 04

0 03

0 02

0 01

0 100 200 300 400

0 005

http://forum.konkur.in/
http://konkur.in/


20    1402  4   -(5)  

3   0 9   10           -154      0 4       

)                     

(.      2  3 3 2+ → + +

3 3 10 3  - 1/6 (1−×3 3 10 3  - 2/5 (2 −×

1 0×10−3  - 1/6 (31 0×10−3  - 2/5 (4 

   .                 -155

          67/2       15 

2 5 2 2→ +

1 (1

0/5 (2

2 (3

1/5 (4

5          0

1 −1    

2 −1    5             -156

        10     0

3 (1

1/5 (2

2/5 (3

4/5 (4

 

           10      .    20       -157

= 23 = 16 = 12 = 1 −1                 18/6

2 3 → 2 3 + 2 2+

2 5×10−5  (2 5×10−5  (1

5 10 4  (3−×2 5 10 4  (4 −×

http://forum.konkur.in/
http://konkur.in/


21    1402  4   -(5)  

                     -158

800       )       30          

(.         2  3 2 2+ → + +

2
2

0 10 20 30 40 50 60 70
10 0 2 3 5 4 5 5 5 25 5 25 5 25−×

4 375 10 2  (1−4/375 (2 ×

8 75 10 2  (3−×8/75 (4 

       -159

.                     (

.                 (

.                      (

.                    (

  (2   (1

  (3  (4 

:     -160

.                (1

.                  (2

2    (3.   2 + 2 → 2        

.                 (4

http://forum.konkur.in/
http://konkur.in/


22    1402  4   -(5)  

 

8     -161          .           2

        3 36            .  
(.   ) = 1 = 12 = 16 −1         

2 2 2+ →

4 2 2+ → +

%50 (1%25 (2 %75 (3 %80 (4 
          -162

.               
.           

.              
.                

1 (12 (2 3 (3 4 (4 
   -163

.                      (1
.                         (2

.             50% (3
.                 (4

      -164
.                      (

.                (
:                   (

2 2→ +

.                (
.        1/5             (

3 (15 (2 4 (3 2 (4 

: 
.           (170 161) 1  (160 151) 2   :  

 10 :    98  70 :(     )    +     :1

http://forum.konkur.in/
http://konkur.in/


23    1402  4   -(5) 

= 64 = 14 = 16 = 1 = 32               -165
(   ) 2  3 3 2 4 3+ → + +

2  3 2 2 4+ → + +
12       44         5.  13

             2  .      

2          12 2  1/6      6    −

.   
          0/25        

.  5            
4 (13 (2 2 (3 1 (4 

= 14 −1        -166
.                     

.   0/4      24          0/7  
.                            

.     6/98     0/4           
1 (4 3 (3 2 (2 4 (1

                  -167
2 2 7 2 4 2 2 2 4 2+ + → + +

4 2 4 4 2+ + → + +

(115
7(2 16

17(3 16
13(4 16

30
       -168

    (−2   +.                
.                (

.        %2/15      (
.                     (

.                (
1 (4 2 (3 3 (2 4 (1

 .     20                   -169
       68      800    5400       

             
= 14 = 16 = 24 = 35 5 = 40 = 108 −1

3/85 (17/7 (2 2/75 (3 5/2 (4 
         9/9            -170

= 16 = 31 = 56 −1   
 

128/85 (2  257/70 (153/70 (3 107/40 (4 

http://forum.konkur.in/
http://konkur.in/


 44 14021402
  

  

 2      -     -     -     -  -  -  -  
  -  -  -  -  -  

  -     -     -     -  -  -  
 

   -      -    -  -  -  -  
  -  -  -  -  -  

  -   -   -  -  -  -  
  -   -   -   -   -    -  

 -  
  -   -   -   -   -   -  

  -   -   -   -  

  

   2  

  
 

 
   

 
 
 

 
 

 
  

  
 
 

  

  
 

  
  

 
 

 

       

 
 
 

 
 

     

            
 

    

  
  

  :    :  
  

  
 
 

 
(  )    

:         923   923    6463   ::021021--6463

http://forum.konkur.in/
http://konkur.in/


«1402   4 »     3 

 
(  ) «2» -1

 :   

2
′ ′−′ =

2
1 1 1 11

1
′ ′−

′ =

(*)1 1 2 1 11 2
= = ′ − ′′⎯⎯⎯⎯⎯→ =

   .   ′ 1   ′ 1    
2 2

21
120

1→

−
=

−
:   

:  
2 2

1 1 1 12 1→ →

− + −
=

+ −−
 

1
1 1 1 1
2 1→

+ − − −
=

−
 

= 2 ′ 1 − ′ 1 = 120 ′ 1 − ′ 1 = 60
:  

2 2

21 1
2 2

21→ →

′ ′− −
−

 

= 2 ′ 1 − ′ 1 = 120 ′ 1 − ′ 1 = 60

1 30      :  (*)    ′ =

(96  94  -2 ) 
----------------------------------------------

(  ) «3» -2

:    = + 3    3=
+

 =   
2

′.  ′ =

3
2

′
+′ =

  +=
+

 2
−

=
+

:    

11 2
2

3 3 31 1 162 3 2 16 2

=
′ = ⎯⎯⎯⎯→ ′ = =

+ × ×
 

(96  94  -2 ) 

(  ) «3» -3

      1 12      = − +

        =

1
2   .  ′ = ′ = −

232:   = +

 2
32 2′

′ ′= − +

2

132 123 2 2
=

−
⎯⎯⎯→ ′ = − = − + −

2
16 3 0− + =

3 − 3 2 −16 = − 4 2 + + 4 = 0 = 4
(94  -2 ) 

----------------------------------------------

(  ) «4» -4

      .  ′    ′ 2 + ′′

′ = +      :  
′ = − + = − 2

:     

′ 2 + ′′ = − 2 ′ = 2 2
−2 2        .  

(98  94  -2 ) 
----------------------------------------------

(  ) «3» -5

21 12 2 2′ = +=

21 12 12 2 2 2′′ = +

31 1
2 2 2 2+=

      .       = ′′   

«3» 5
2
π    .       =

:   

3 31 1 02 2 2 2 2 2 2−= + =

2

http://forum.konkur.in/
http://konkur.in/


«1402   4 »     4 

0 22 2
12 2 2 4 2

= = π = π
∈

π π π= ± = + = π +
 

  5
2
π.       =

(98  94  -2 ) 

----------------------------------------------

(  ) «4» -6

:        

0 12

145 112 0 75
12 0 12 3

−−
= = =

−
 

:     

2 1 172 2 1 24 552 1 342 1 9 27

++ − −
+′ ′= = =

+
 

:      7 55 8
3 27 27− =

(106  102  -2 ) 

----------------------------------------------

(  ) «1» -7

1 32
3 1

+ +=
−

 

2 3

2

13 3 1 2 1 3 2 1
2 1

3 1

− + + − + +
+′ =

−
 

13 8 16 3 64 343 64 2
−

′ = = −

′ 1 ′ 1  

(94  -2 ) 

----------------------------------------------

(  ) «2» -8

        .  1 = −1    

         

:        .  = 1   
2

2 2
22 2
12 2 2

2 22
1 1

−
+− −= = =

+ +
 

:   

2 2 2 2
3 6 32 1 21 1

−′ ′= = − = −
+ +

 

(96  94  -2 ) 

----------------------------------------------

(  ) «4» -9

11 2       = −1          − =

2 2 1
1

− +=
−

:    

1 1
1 3 3 32 21 1 1

− > − =
< − − − −

= > − = −
− − −

.SwH  Â²»qº

 

:  
2 1

2
2 4 1 7

41
=−− + −′ = ⎯⎯⎯→ ′ = −

−
 

71 4−:            ′ − = −

1 7 7 51 12 4 4 4− = − + = − − ≤ −

         5
4.   −

(94  -2 ) 

----------------------------------------------

(  ) «4» -10

   =     = 5   = −3   

 = −3         .  ′ −3 = ′ 5 = −4

:  

−3 = 3 −3 = −4 −3 + 3 −3 = 5

:       

′ = 2 ′ 2 + 3 + 6 ′ 3 + 6

3 13 8 3 4 3 2
=−⎯⎯⎯→ ′ − = ′ − = − ′ − = −

:       

13 3 3 3 5 4 22′ − = ′ − ′ − = ′ − ′ = − − =

(96  -2 ) 

http://forum.konkur.in/
http://konkur.in/


«1402   4 »     5 

(  ) «2» -11

:     

 

   1
2 = 1   = 0       =

.    3   

(117  :   -2 ) 
----------------------------------------------

(  ) «3» -12

 = 3   = 2      = −1     

:          

 
.  = −1 2    2  == α     

(113  112  :   -2 ) 
----------------------------------------------

(  ) «3» -13

:      = 0   

 
≤ 22            = −

     = 5    .     

  )            

− 2 < 1 < 3      :  1    2  (  = 2
.    = 2   = 1     

(113  112  :   -2 ) 

(  ) «4» -14

:        ( ) 

3 2

3 2
0
0

+ + <

− − ≥
= 

:     

2

2
3 2 1 0
3 2 1 0

+ + <
′

− − >
= 

     .   = 0      

:      ′

 
0

3 2 + 2 +1= 0

3 2 2 1 0 1>− − = ⎯⎯⎯→ =

.  1      

(117  :   -2 ) 
----------------------------------------------

(  ) «4» -15

:      
2 0 2
2 2
2 1 2 1 0 1 2
1

′=− − +′ = ⎯⎯⎯→ + − = = − ±
+

 

:    

1 2 1 2− −
′ + − 

.        

(122  120  :   -2 ) 
----------------------------------------------

(  ) «3» -16

  .   −1 + ∞        

.      
5
41 1 103 32 1

=
′ = − ⎯⎯⎯→ ′ = − = =

+
 

1   3      = − +5
4=

13
12          .  −

.   

  -2

http://forum.konkur.in/
http://konkur.in/


«1402   4 »     6 

51 4−

′ − +
ÂLvº

 

(126  123  :   -2 ) 

----------------------------------------------

(  ) «1» -17

    0 4         

      .    

:

2= −= ⎯⎯⎯⎯⎯⎯→

= 2 − 3

®ÃõTv¶

= 2−

 
.  ′ = 00        

2 0 2 3
3

3 162 3 4 92
′=′ = − ⎯⎯⎯→ = =

  2
3      = −32

27 

.  

(119  118  :   -2 ) 

----------------------------------------------

(  ) «3» -18

              

  ′  

:      

023 10 3 2 3 10 3′ >′ = − − ⎯⎯⎯⎯→ − >

⎯3⎯⎯→10 − 3 > 3·H¼U 
3 −10 + 3 = − 3 2 + 3 −1 < 0

       

3 13 13 3 32 2
+ −.  −∞ −

3

3 13 13 3 32 2
10 3

+ −−

− + − + − +
 

.  = 2   = 1          
(122  120  :   -2 ) 

----------------------------------------------
(  ) «2» -19

:           
′ = + 2 2 = 1+ 4

0
0 2

211 4 0 24

′=

π
= = π +

⎯⎯⎯→
= π − θ

+ = = −
= π + π + θ

 

       θ    1
4 .  

:         
32 2 2 22 2

π π
π − θ π + π + π + θ π +

′ − + − + −

ÂLvº ÂLvº ÂLvº ÂLvº

 

 .     = 2 π + π + θ   = 2 π − θ   

 1
4:    = − θ = −

2 1 1 91 2 14 8 8= − − = − − + = −

    9
8.  −

      .

(126  123  :   -2 ) 
----------------------------------------------

(  ) «3» -20

− = = 0      −     
      −

:   
2 0 2

2
2 2 2 0 2

′ =−′ = ⎯⎯⎯⎯→ − = = ±
−

 

2 2
2 2− = − =

   .  − 2 2

2 2 2 28 4 22 9 9 3− − = = = =

  24 2
3 3 −:    =

2 8 2 8 2
3 9 9 27= = =

(118  113  :   -2 ) 
 

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     7 

 
(  ) «2» -21

   2       0 + ∞   = 3 −1

    −2 + ∞    = 3 −1 − 2 
.

(75  72  :     -1 ) 
----------------------------------------------

(  ) «3» -22

            2+

:    
2 2

2

2

−
+ − + +

+ + −
+

− + R −· R · 

 

−2 2       .    
(47  46  :  -1 ) 

----------------------------------------------

(  ) «4» -23

:     
= −1
= −1 − 3

:          

13= = = ≠
−

 

 1          3  =

 .            

 
(45  44  :  -1 ) 

----------------------------------------------

(  ) «4» -24

22 = 1−

:      1−

1− ≤ 2 < 2− 1− 2 ≤ < 2− 2

=       = 1− 2   = 2− 2

:    

 
− 5 − 3 − −2    .  

= − 5 = − 3 = −2 = −2 15

(54  49  :  -1 ) 
----------------------------------------------

(  ) «1» -25

     α β  −1 

2
10
+′ β α     =   

   −1:  .  
11 10 2 3 10 2

−− = − ⎯⎯⎯= ⎯⎯→ + = − 

0 4
9

β>⎯⎯⎯→β =

22
9        .    α =

22 4
9 9 2

11.  2 −11 = 0   =

0 + ∞         

(61  57  54  :  -1 ) 
----------------------------------------------

(  ) «1» -26

 +      

.  0 + ∞

≥ 0+ = 2 + 2

       0 + ∞   + −1.  

= +1 2 −1 +1= +1 = +1 −1

+ −1 = +1 −1 ≥ 0
(65  57  :  -1 ) 

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     8 

(  ) «2»  -27

       −1 2     

:   .  = 2 − 2   −∞ 1

= ∈ ∈

= ≤ − < − < = ≤ < <11 1 2 2 2 1 22 

= = = − =1 1 11 12 2 2
:  -1 ) 

 

(70  66 

= −∞ 3   = −2 + ∞          

----------------------------------------------

(  ) «3» -28

      −13    1 − = −∞

1 2:    − = − + ∞

1 1
1

−−
−= ∈ ∈

= ≤ 3 −1 ≠ 2 = ≤ 3 ≠ 1

1 3 1− = −∞ −

    −1−2 + ∞ − 2    .  

              

:     

∈ −2 + ∞ − 2 ∈ − 1 3

  −11 3    2      2   −

.    3

(69  66  54  :  -1 ) 

----------------------------------------------

(  ) «2» -29

:       

1 15 1 2 2 4− + = +

         

  = 5 −1 +21 1
2 4  .  = +

.       

15 3 5
15 1 5

− + ≤
=

+ ≥
 

  = 5 +1   = −5 + 3        

   .    =      

     1 1
2 4:      = +

 
   .  3        

.  3 0 48   22 0 3

(85  80  :     -1 ) 

----------------------------------------------

(  ) «3» -30

:       

2 2 2
25 43+ + =

:  

2 2 2 2 2
5 16 3 164 53 5 5 5= − = =

2
16 3 3
5 5 16 52 5= =

316 5
5    2     .  3   

3 5 3 15 10
55 52 5 2 5 2 323 2 32 210 1000 1000

×
= = = > =

2 3      .  2        

(90  86  :     -1 ) 

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     9 

 
(  ) «4» -31

   .       ′     
         ′ = = 3

.  = ′ = 3   

 
:         

22 = 2 − 2 = 3 2 − 2 = 8 2

22 2 4 2×⎯⎯⎯→ = ⎯⎯→ =nm] 
(56  54  :     -3 ) 

----------------------------------------------

(  ) «1» -32

    3 3
4 2 8= − =

×
   .  

:          32 4= =

 
:      3 34 4 8 2= = × =

1 1 3 3 9
2 2 4 2 16Δ = = × × =

(56  54  :     -3 ) 
----------------------------------------------

(  ) «2» -33

= = 7      :     

 

:     .       

= = 99
:          

9 14 9 819 14= = = +
+

 

81 16 25 == =

(58  :     -3 ) 
----------------------------------------------

(  ) «4» -34

 3 − 4 = 3        0 1    
            .

    .   (    )  
.     3 − 4 = 3

 

     4 3
3
+    =

:  

32 24 34 3 16 12 03
×+= ⎯⎯→ − − =

6
6 3 2 0 2

3

=
− + =

= −
 

 = 6            2
3= −

.
(57  56  :     -3 ) 

----------------------------------------------

(  ) «4» -35

     .  2 + + + = 0
:            

2

2

2

1 1 2 0 1 2 0
3 3 3 0 9 3 3 0
3 3 6 0 9 3 6 0

+ + + = + + + =

+ + + = + + + =

− + − + + = − + + =

 

3

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     10 

 .    = 9   = −4   = −2     

         2 − 2 − 4 + 9 = 0

:4 14
−= =

            

.  2 = 2

(56  54  :     -3 ) 

----------------------------------------------

(  ) «3» -36

2 + = 4 + 8 2 − 4 = 8 −

− 2 2 − 4 = 8 − − 2 2 = 8 − + 4

2 42 8 8
−− = +

             

 4 28
−.  = 2    4 = 8    

 
4 42 1 1 128 8

− −− = − = =

(56  54  :     -3 ) 

----------------------------------------------

(  ) «3» -37

:     

− 3 2 − 9+ 8 +1= 0 − 3 2 = −8 −1

4 8 2
1 3

− = − = 

:        

   : = 1+ 2 = 3

             

:        

= −1− 3 = 4

= π 4 2 = 16π½oÄHj

(56  54  :     -3 ) 

----------------------------------------------

(  ) «2» -38

 ′ −2 1       2 + 2 + 4 − 2 − 3 = 0

:      = 3    .  = 2 2  

 
22 + 3 2 + 4 − 2 3 − 3 = 0 2 + 4 = 0 = 0 − 4

 .  ′ = ′ = = 2 2    = 4  

     ′    . ′ = 900

          900

:   

  
Δ

2 2

′    - ′

1 12 2 2 2 2 44 2= π − = π −

(63  62  :  -3 ) 

----------------------------------------------

(  ) «1» -39

  6          + = 3    

         .     

           = 2   = 1  

:  .  1 

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     11 

 
= 44 = 2

4 2 1 32
+= × =¾£º p»l

(63  62  :  -3 ) 

----------------------------------------------

(  ) «4» -40

 4 5             

4    (  )    .  2    = 2  

:  .   

 

2 4 14 52
+= × = =¾£º p»l

   .  

4 5

7 1          

:   7 1   4 5       

5 1 4
4 7 3

−= = − ⎯⎯⎯⎯⎯⎯⎯⎯⎯→
−

jnm¬Â¶ pH  ôi
KÃ{

45 4 3 15 4 163− = − − − = − +

4 + 3 = 31

(63  62  :  -3 ) 

 

−1 = 5  3 −0 = 3−2 = 3   4 −

(  ) «2» -41

           
   .  1−

              
:              

32 + 52 + 32 = 43
(68  66  :  -3 ) 

----------------------------------------------

(  ) «1» -42

 .  2 − 1 = 2          

      2     .  23 = 8
(68  66  :  -3 ) 

----------------------------------------------

(  ) «1» -43

:           

5
1 5
1 4

=
≤ ≤
≤ ≤

0
1 5
1 4

=
≤ ≤
≤ ≤

4
0 5
1 5

=
≤ ≤
≤ ≤

1
0 5
1 5

=
≤ ≤
≤ ≤

 
(68  :  -3 ) 

----------------------------------------------

(  ) «3» -44

 = 2  = 2  :      

          . = 2

:       3
2    .

:       3 622 2× =.

(66  64  :  -3 ) 

  -3

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     12 

(  ) «2» -45

:     

2 2 3
4 2 1

= − − −

= − − −

3 32 2 3 4 2 14 4= − − − = − − − 

3 202 4 20 44 7
3 15 15 33 14 7

− = − =
= =

− = − =
 

(76  73  :  -3 ) 
----------------------------------------------

(  ) «3» -46

             
:

+ + = − + − + − 

= 3 − + + = 7 − 4 − 
3 = 7 − 4 −1 + 1 −1 2 + 0 2 1 + −2 0 1 

1 6 3 3 2 1 13= − = − 

(76  73  :  -3 ) 
----------------------------------------------

(  ) «1» -47

− = − = 

= 

1           ≠

.      
(72  69  :  -3 ) 

----------------------------------------------

(  ) «4» -48

              

        :  

2 2 1 2 2 1
1 1 21 1 2

= − α − α − − α − α −
⎯⎯⎯⎯→ = =

− − −= − − −
ÁpH¼U óo{

5 1 1 12 2 2= − − −α = 

−1 2 + 22 = 62 = −1 −1 − 2 2 = −1 2 + 
(76  73  :  -3 ) 

(  ) «1» -49

1 2 1 1 11 1
′∈−

⎯⎯⎯⎯→ = ′ + − −
′

 

    = 1 − 2 3    :   

11 21 1 1 1 2
11 2 3 2 1 12

− −′ + − −
= = = ′ = −

− −
 

:           

3 3 1
2 4 2 4
+= = − ⎯⎯⎯⎯⎯→ßHkL¶ pH ¾±ÅIÎ 

3 2 3 2 1 2 46
4 2 4 4= − + + =

    46 23
16 8.  =

(76  73  :  -3 ) 

----------------------------------------------

(  ) «4» -50

+            

              .    

                .  270   

 0:  .  54

1−
= − = = −

 +            ( )  

        63   .  1170

 
(72  69  :  -3 ) 

 

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     13 

 
(  )  «2» -51

1/15            %15  

             

.         

(97  84  :   -   ) 

----------------------------------------------

(  )  «3» -52

.   10     = = 4    4    

:          

31 53 4 4 42

1 2 3 4 4 4 5 5 6 6
↓↓
== + =

 

= 3 − 1 = 5 − 3 = 2

(87  86  :   -   ) 

----------------------------------------------

(  )  «1» -53

.  20    +     72    

              

:    400

3600 400 3600 5 40 572 72 =× + = × +

+ 8 = − = 8

   20
8

+ =
− =

 .  = 14   = 6   

:       6 1
72 72 12= =

(82  74  :   -   ) 

----------------------------------------------

(  )  «2» -54

             

:

1 140 8 150 6 160 2 170 2 180 1 190
20

× + × + × + × + × + × < 

1 150 8 160 6 170 2 180 2 190 1 200
20

× + × + × + × + × + ×

< 169 5

<

159 5 <

.      168     

(85  74  :   -   ) 

----------------------------------------------

(  )  «2» -55

  = 21×24 = 50421=
¾Ã²»H  Í ]  

 .        2×9 = 18   21−12 = 9

 2            16 

  .  506         

:   .    20     

506 25 320 =  =

(85  84  :   -   ) 

  

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     14 

(  )  «1» -56

2              

4 5 7 10 15 17  

  .       

:  1 1 2 2 3

= 1 1 = 2 2 = 4 3 = 10 = 17

:     

 

(98  97  :   -   ) 

----------------------------------------------

(  )  «4» -57

:           

3 − 2 = 11 5 = 4 5

2 3 4 3 5 2 6 33 44 5 4 52 3 2 7
× + × + × + × +

= =
+ + + +

 

= 3

(85  84  :   -   ) 

----------------------------------------------

(  )  «1» -58

2
01
12
2

σ =
σ = σ

σ =

¡  ¡  ù

¡  ¡
 

1
20 1 51
10

σ
= = = =

1 + + 20 = 20×5 = 100

(97  96  :   -   ) 

----------------------------------------------

(  )  «4»  -59

   σ               

      σ         

:      

5 6
5

= + =
σ = σ

2 2
2

1

5 5 5 2 56 6 3 6

σ
σ σ

= = × = × = = =σ σ σ
 

(97  96  :   -   )

----------------------------------------------

(  )  «2» -60

              

1  2 )  :       (  =

1 3

2

1 1 1 2 3 3 3 4 4 4 4 4 5 5 5
↓ ↓ ↓

↓
¾ºIÃ¶

 

= 3 − 1 = 4 − 2 = 2

    = 4 − 2 = 2

(87  86  :   -   ) 

 

= 1 1 = 2

2 = 4

3 = 10 = 17

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     15 

 
(  ) «4» -61

               

6     4     2          1 3 5  

  .  33 = 27

(21  :     -   ) 

----------------------------------------------

(  )  «3» -62

:         

     .9    :  

.       9     

   .  28 = 256

    .9    :  

6  3         9   

     .  26 = 64

   = 256 + 64 = 320

(21  20  :     -   ) 

----------------------------------------------

(  )  «1» -63

≡ ∨

≡ ∨

∨ ∨ ≡ ∨ ∨ ∨

≡ ∧ ∨ ∨ ≡ ∨ ∨ ∧ ∨ ∨

≡ ∨ ∧ ∨ ≡ ∨

(11  6  :     -   ) 

----------------------------------------------

(  )  «1» -64

           

:

3 5 7 9
1 2 9

=
⊆

=

⎯⎯⎯⎯⎯⎯→∀ ∈ ∈¾ø¼ \¶oÄp  þÄo÷U 

(22  :     -   ) 

----------------------------------------------

(  )  «2» -65

× − × = × − = × −

× − × = × −

−            

= 0  )        .  

       −    (

:    × − ×      .

× = 3×5 = 15

(38  35  :     -   ) 

----------------------------------------------

(  )  «2» -66

:           

 
− ′′

= 1 2 3 − 1 2 2 3 4

= 3 2 3 4 = 3 ¾à ÃeIº = −

(34  26  :     -   ) 

----------------------------------------------

(  )  «3» -67

′ = ′            

. =  :   

 

  

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     16 

1 2 1 4 2 3 3 4
1 3

↓ ↓
=
=

′′ =

        (3)  (1)     

(2 )               

 .          .  

:        =

 

:           

=  :    ==    (1

=    =    (2

:   (3

=′ ′ − ′ ′ − = ′ −

′
′ ≠ ∅

kº H´À  pH  Hk] »
 

 (4

=′ ′ = ′ =

(34  26  :     -   ) 

----------------------------------------------

(  )  «4» -68

′ ′ ′ = =

′ − ′ = ′ ′ ′ = ′ = −

 −  .   10     1024   

.   5    32     31 

:      

 

110 5
= − − = 5 

   5   5 102 =.    

(21  20  :     -   ) 

----------------------------------------------

( )  «1» -69

:        

∧ ∨ ∧ ≡ ∧ ∨ =

:        

∧ ≡ ∨ ∧

≡ ∨ ∧ ≡ ∨ ∧ ∨ ≡ ∨ 

:      

∨ ≡ ∨ ∨ ≡ ∨ ∨ ≡ 

(11  6  :     -   ) 

----------------------------------------------

(  )  «2» -70

:      .        

× = × =

2 1 3 2 41 1 01 1

− = = ±
+ + =

= =
+ + =

= =

2 1 3 2 61 1 23 3

− = = ±
+ + =

= =
+ + =

= =

2 1 1 2
1 1 2 4
3 3

− = = ±
= = + + = ± + ∉
= =

 

(38  35  :     -   ) 

 

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     17 

 
(  ) «2» -71

       2

3 5 7 9

4 6 8        

      14 5 401 2 = 

          .  

  2             .  

:      .

4 5 2 801 2× × =
·I¬kÅ ·I«Àj ·I§Ä

 

(140  127  :    -1 ) 
----------------------------------------------

(  ) «3» -72

.  5 = 120        5      

   .      3     

:      3 

3 × 3 = 36⎯⎯⎯⎯⎯→3Sz«ÄI]

qÄI T¶ E Â{
  

:           

1120− 36 = 84  
(132  127  :    -1 ) 

----------------------------------------------

(  ) «1» -73

  5    .     

  1 2 3 1010 2525 =    .  

11           1 2 3 10
:   

1 10 2 9 3 8 4 7 5 6
        5    

           11   

    2 2 2 2 2 321 1 1 1 1× × × × = 

.  252 − 32 = 220     

(140  133  :    -1 ) 

(  ) «1» -74

               

              

.       

8 6 4 2 28 15 6 1 25202 2 2 2 = × × × = 

(59  58  :   -  ) 

----------------------------------------------

(  ) «2» -75

 2            4    

:  

4 5 5 6002 2 2=
 

(140  133  :    -1 ) 

----------------------------------------------

(  ) «4» -76

            

  .          2   

             9  7  

:  

 
 

 
22× 5 ×2 = 480    :       

(132  127  :    -1 ) 

----------------------------------------------

(  ) «3» -77

            

            

:        3   5   

 

¾¾L÷]  ·»nj  Sz«ÄI]

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     18 

↓ ↓ ↓ ↓ ↓
− joÎ − joÎ − joÎ − joÎ −

 

5 3 4 1803 2 2 2

↑

× × =
×

(59  58  :   -  ) 

----------------------------------------------

(  ) «2» -78

           

:       

 
 

 
 

 
.  33× 8 = 24   

(132  127  :    -1 ) 

----------------------------------------------

(  ) «1» -79

:    

:          :     (

 
.  5   (

 
 

 

.  220+16 + 20 = 56   

(126  118  :    -1 ) 

----------------------------------------------

(  ) «1» -80

  4               (

:

4 3 121 2× =» HkÅÂM

 4                   (

:  

3 4 3 722 1 × = 

.  12+ 72 = 84    

(59  58  :   -  ) 

----------------------------------------------

 
 

(  ) «4» -81

1 3 21 2 3 3 2 2 318 18=+ + = ⎯⎯⎯⎯→ + + =

2     4 2 + 3 = 18    4  0   

.    5   

(61  59  :   -  ) 

----------------------------------------------

(  ) «1» -82

   3  2          

.            

3
2

1
4

= 

   -  

.SwH 2 2 4 ®¶I{ ¾¨   Z»p  ³I¤nH  Sz«ÄI] IÀÍMo¶  nj  joÎ  ³I¤nH  Sz«ÄI]

Â²Ii  ÁI] 3  JIhTº H

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     19 

4 3 2 1
2 1 4 3
3 4 1 2
1 2 3 4

 : 

            1     

      4  1       

.   4  3 2       .    

(67  64  :   -  ) 

----------------------------------------------

(  ) «2» -83

:              

1 2 3 2 1 3 2 3 1
3 1 2 3 2 1 3 1 2
2 3 1 1 3 2 1 2 3

1 2 3
3 1 2
2 3 1

= = =

=

 

   )       

         (    

         )       

                  

  6  3× 3      .(    

                  

.    «2»   .  

(68  62  :   -  ) 

----------------------------------------------

(  ) «4» -84

         

3 1 5 1  = ×

3 2 5 2= ×

3 3 5 3= ×

1 2 3
1 2 3

12
11

+ + =
+ + =

14 13 91 78 70982 2⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→ × = × =Âÿ¹¶Iº  »  cÃdÅ  ÁIÀJH¼]  jHk÷U 

(61  59  :   -  ) 

----------------------------------------------

(  ) «3» -85

                

   5          .  9  

:    

= 0⎯⎯⎯⎯→ + + +0 = 8 + + = 8ÆoÎ  ¢Lö) 

8 3
8 3 1 10 453 1 2= =

+ −
=⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→ =

−
Âÿ¹¶Iº  »  cÃdÅ  ÁIÀ JH¼]  jHk÷U 

= 5 ⎯⎯⎯⎯→ + + + 5 = 8 + + = 3  ÆoÎ  ¢Lö) 

3 3
3 3 1 5 103 1 2= =

= =
+ −

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→
−

Âÿ¹¶Iº  »  cÃdÅ  ÁIÀ JH¼]  jHk÷U 

.  45 +10 = 55   

(61  59  :   -  ) 

----------------------------------------------

(  ) «1» -86

:  ( )       

2 +1 + 2 ′ + 2 ′′ +1 = 10

= 2 +1 = 2 ′ = 2 ′′ +1

⎯⎯⎯⎯→¾²jI÷¶  nj 

+ ′ + ′′ = 4

4 3 1 6 153 1 2= =
+ −

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→
−

Âÿ¹¶Iº  »  cÃdÅ  ÁIÀJH¼]  jHk÷U 

(61  59  :   -  ) 

---- ------------------------------------------

(  ) «4» -87

:    

3 ≤ 1 + 2 + 3 ≤ 10 4 ≤ 1 + 2 + 3 ≤ 10

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     20 

 .   1 + 2 + 3 ≤ 10      

  (    3)      

  1 + 2 + 3 ≤ 7      

:

0
1 2 3 7 ≥+ + ≤ ⎯⎯⎯⎯⎯⎯→

¾²jI÷¶  ¾M  ®ÄkLU
 

7 4
1 2 3 7 = =+ + + = ⎯⎯⎯⎯⎯→

1 7 4 1 10 1201 4 1 3
+ − + −

== =
− −

  1 + 2 + 3 ≤ 3        

            .

.  120−1= 119     .  1 = 2 = 3 = 1

(61  59  :   -  ) 

----------------------------------------------

(  ) «2» -88

 = 3   = 2             

.  

2 3 1
3 1 2
1 2 3

=

.               

2
3
1

=

                  

  11  33 22         

  .        .      

12:     ( )  3       

2 1 3
3 2 1 3 2
1 3 2

== =

   )            . = = 6  
22 31 13
33 12 21
11 23 32

( =

(67  64  :   -  ) 

----------------------------------------------

(  ) «2» -89

 .   4  1   4×4     2 ≤ 4

 2             

:       .    = 2  

2
4 3

4
3 2 4 1

 

:  .  = 3   = 1  

4 3 1 2 21 4 2 31 1 62 1 3 4 33 2 4 1

=
= = + + =

=
) 

(

1

2

4 1 3 2
1 4 2 3 62 3 1 44 1 3 2
3 2 4 14 33 3 4 4 1 3 2

3 2 4 1 2 4 1 3 71 3 2 4
3 2 4 1

=

=

⎯⎯⎯→ + + =

=

⎯⎯⎯→ + + =

 

(63  62  :   -  ) 

----------------------------------------------

(  ) «1» -90

.              

    .  3          

2 )  12   ↔1   3    ( ↔

.      1 

(69  62  :   -  ) 

 

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     21 

 
(  ) «2» -91

       (2)     
 (2   )         .  
    80    .  14 8 −12−1= 1 8

      (2)   100      
.  

(92  91  :   -3 ) 
----------------------------------------------

(  ) «2» -92

           
.   0 1    

1 2 0 1
1 1 12 2 2 0 1= += + ⎯⎯⎯⎯→ = + +

340 201
1

= =
= ⎯⎯⎯⎯⎯⎯⎯⎯⎯→

R¼Å

R¼Å

 

340 2 +0 1 = 2 + 20 2 + 2 2 − 320 2 = 32           (1)

2 = 2 − 2

340 202
2

= =
= ⎯⎯⎯⎯⎯⎯⎯⎯⎯→

R¼Å

R¼Å

 

340 2 = 2 − 20 2 360 2 = 2               (2)

1 2
2 2 2

32360 320 32 0 840 =⎯⎯⎯⎯→ − = =

8 = 288    = 360×02 =360 2⎯⎯⎯⎯→

 
(93  90  :   -3 ) 

----------------------------------------------

(  ) «4» -93

             
:     

 

1          1    

2                
:  .

 
1500 + α + 450 + α = 900 2α = 300 α = 150
(94  93  :   -3 ) 

----------------------------------------------
(  ) «3» -94

 ( )    ( )      
               

.        
             
        (.  )  
     .        

         .      
      .         

.    

2 1
2 1 2 1

μ <μ
=

= ⎯⎯⎯→ >
μ

 

2 1
2 1

2 1
>
=

λ = ⎯⎯⎯→ λ > λ

.             
(95  94  :   -3 ) 

----------------------------------------------
(  ) «4» -95

               
             

(1)(2)      370:     300

 
0

2 1 2
201 2

37 1 21 30
θ

= = =
θ

 

(98  :   -3 ) 

3

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     22 

(  ) «3» -96

             
.       

(1)2 1 1
1 2 2

140 7
100 5= = =

(2)3 4 4
4 3 3

80 4
100 5= = =

(3)
0

3 3 2
02 2 3

53 0 8 3
0 6 437

= = =

4
1 2 3 4 2

1 1 3
2

4
4
5
7 7
5

⎯⎯⎯⎯→ = × =

3 4 4
1 1

3 4 16
4 7 21⎯⎯→ × = =

′            

(98  96  :   -3 ) 
----------------------------------------------

(  ) «1» -97

.     

 
0 3 8 5 3 8 530 8 5 3 8 5 3 3

×
= = = =

3 1 7 8 5 51 7⎯⎯⎯⎯→ = = 

′ = + ′ ′ = 5 + 3 5 = 8 5

     
Δ

 ′:    

 

1   1       θ
Δ

     ′

   0      .  4500  θ1 = 45 θ2 = 30

2       :    

2 1 2
1 2

2
2 21 1
2

θ
= = =

θ
 

(99  97  :   -3 ) 
----------------------------------------------

(  ) «2» -98

:         

1 1 2 2θ = θ = θH¼À H¼À

2

0

51 26 2245 2

2 5 22 6
= =

θ = =
⎯⎯⎯⎯⎯⎯⎯⎯→ = θ

H¼À

H¼À

 

0
2 2

3 375θ = θ =

0 0 1 2
2 1 1 1 27 30θ − θ = θ = θ = θ =

1 2 1 2

1 2

= = = =

1 2 1 1 2
1 2

1 2 2 2 1

θ
= =

θ θ θ
 

2 1
1 2
0 0

1 2

0 0
1

0 030 37 2

30 30
37 37

θ
=

θ
θ = θ =

⎯⎯⎯⎯⎯⎯⎯→ =

0
0

37 0 8 1
37 0 6 2

3 1
2 2 25 34 3 48
5 5

=
=

⎯⎯⎯⎯⎯→ = =

(99  96  :   -3 ) 
----------------------------------------------

(  ) «2» -99

:  

          (

.

 (

 (

 .             (

.              

             

.    

= 450

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     23 

 

λ                 

(100  99  :   -3 ) 
----------------------------------------------

(  ) «3» -100

λ

:     

 
λ=λ ↑

⎯⎯⎯→ ↓
↓ ↓ ↓

 

(102  101  :   -3 ) 
----------------------------------------------

 
(  ) «2» -101

( )  35 -4     106     

.   ( ) 

 
               

.   ( )         

 
      .        

            

.    

              

.    ( )   .      

 
(106  105  :   -3 ) 

(  ) «3» -102

    2=      

:      

3
5 3

5

5 3
3
2 5 35 2 2
2

= ′
′ = = ′ =

′
′ =

 

  =
μ

        

:  

3 35 3 5 5

′
′ ′ ′μ

′ = = = = =

μ

 

9 9
25 25

′= ′
=

′ ′
= ⎯⎯⎯⎯→ =

9 9 9 37 5 13 525 25 25
′

= ′ = ′ = × =

37 5 −13 5 = 24   
(107  105  :   -3 ) 

----------------------------------------------

(  ) «2» -103

:  
.         (

.          (
.            (

0 0

.     (
           (

(110  108  :   -3 ) 
----------------------------------------------

(  ) «3» -104

:         

= − = −
λ

 

02 2
0

21
2

−
λ= − =

λ
 

02 − λ
=

λ
 

(120  116  :     -3 ) 

 -3

http://forum.konkur.in/
http://konkur.in/


24     «1402  4 »   

(  ) «1» -105

:      

2
0

1 1
2 4= − = −

21 3
2 4=

:      

2
0

1 1
2 4= ′ − ′ = ′ −′

3 21 11
2 4

′′=⎯⎯⎯→ =

2
2

2

1 11
11 112 4

1 3 3 3
2 4

′ ′ ′
= = =

(120  116  :     -3 ) 
----------------------------------------------

(  ) «4» -106

′            
    .     = ∞     

:  2 2 2
1 1 1 1 1 1= − = −
λ λ ∞′ ′

 

2
2 2

2
2

1 1
45 25

4 252
164

′
λ = = = =

(124  123  :     -3 ) 
----------------------------------------------

(  ) «3» -107

:          

1 = 1 6×10−19 Δ = 16 32×10−19

19

19
16 32 10 10 2
1 6 10

−

−
×

= =
×

 

:  ′            

2 2 2
13 6 1 113 6−

= Δ = −
′

 

10 2
2 2
1 110 2 13 6Δ =⎯⎯⎯⎯⎯→ = −
′

 

2
2 2

2

1 1 1
1 1 30 75 1 14 24

= ′ =
′− = =

′ = =
 

  .  ′ = 1      = 2     
:       

22 2
0 1 4=

′=′ ′
= = ⎯⎯⎯→ =

′
 

(128  127  :     -3 ) 
----------------------------------------------

(  ) «2» -108
           

:  

32 2
13 5 1 5
3

= − = − = −

:       
= = 4×10−15 × 3 06×1014 = 1 224
              

.  
= −1 5 +1 224 = −0 276

2
13 50 276 7− = −

    7          
.   

7 → 2 7 →1 6 → 1 5 → 1 4 → 1 3 → 1 2 → 1
.      

(131  127 123  :     -3 ) 
----------------------------------------------

(  ) «1» -109
:      

            (
.           

           (
.          ...  

           (
.        

            (
.      

(123  121  :     -3 ) 
----------------------------------------------

(  ) «3» -110
.   ( )  ( ) ( ) 

:    
.       (

)        (2+  (
.  

.          (
(133  131  129 125 121  :      -3 ) 

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     25 

 
(  ) «3» -111

             

       .               

           

.     

(87  84  :   -2 ) 

----------------------------------------------

(  ) «3» -112

.   ( )  

:    

             (

.       

              (

.         

.            (

(87  84  :   -2 ) 

----------------------------------------------

(  ) «4» -113

.              

               

             

             .

.          

 
9000= == + ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→

= +

2 10 3 103 10 1 2 10 3= × − = − = × −=

2 10 3 2 10 3 103 0 1 2 10 3 10

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→

− − −× × = × × × + × ×

100 10 110= + =

(91  89  :   -2 ) 

----------------------------------------------

(  ) «2» -114

1    :       1 1= θ =

= 2      :          

             

2       :       θ    1 =

1 2 12 2 2
= == − = ⎯⎯⎯⎯⎯→

1 2 2 1 2− = = +

1×10 = 2 10+ 2 5 10 1 = 12 5 2

2 2 2
1 1 1

10 4 4 4
12 5 5 5 5

ρ
= = = =

ρ
 

2 2 12 2 2 2
1 1 1 1

4
5

== × = ⎯⎯⎯⎯→

2 2
2 1 1

1 1

4 2 22 0 45 5 5× = = = =

.     60     

(93  91  :   -2 ) 

----------------------------------------------

(  ) «3» -115

         = θ     

             

           .   0 = 0

.         

 

2

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     26 

= θ1 θ1 =

= θ2 θ2 =

0 2
= − = −k¹ÄHoM 

2 = 800×10−4 = 8×10−2= 400×10−4 ×10×0

(93  91  :   -2 ) 

----------------------------------------------

(  ) «4» -116

            

.    (2)     (3)  (1) 

 

3     11       >

        .     (2) 

       (2)    

 
             

:  

44
1 3 1 3

2
2 0

2 10
4 1 5 10

90

−

−
= = − = ×

= = = ×
θ=

= θ ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→

4 2 5
2 = 2×10− 4 1 5×10− 1 = 1 2×10−

:5
2 = 1 2×10− 

(97  94  :   -2 ) 

----------------------------------------------

(  ) «3» -117

            

       .     

:         

 

7 3
0 7 3

12 10 1200 4 5 76 10
12 10 800 6 5 76 10

− −

− −

= × × × = ×
= μ

= × × × = ×
 

:           

= 2 + 2 = 5 76× 2 ×10−3 = 57 6 2

             

.  450

4501α = = α =

(100  99  :   -2 ) 

----------------------------------------------

(  ) «1» -118

          :

.          

0      :     2
μ

=¾`ÃQ

(1)     :      
0

2
=

μ
¾`ÃQ 

:           

(2)1 0
2
μ

= ⎯⎯→ =´Ãw ´Ãw
¾`ÃQ

 

= 2π              (3)

:            

´Ãw

:    

2 3 0 2
2

ρ ρ πμ
= ⎯⎯⎯⎯→ =

u¶ ´Ãw u¶
´Ãw

´Ãw ¾`ÃQ ´Ãw

 

http://forum.konkur.in/
http://konkur.in/


  27 «1402  4 »   

     :      ´Ãw

(4)
0

2 2ρ π
=

μ
¾`ÃQ u¶

´Ãw

)     ´Ãw:  ( ´Ãw

2                    (5)2= π
´Ãw 

 (5)  (4)  :      ´Ãw

4 5 2
0

2 2
2

ρ π
⎯⎯⎯⎯→ π =

μ
´Ãw ¾`ÃQ u¶ 

(6)
0

4
ρ

=
μ

¾`ÃQ u¶
´Ãw

:     0  = μ ¾²¼± Ãw
¾²¼± Ãw

¾²¼± Ãw

 

:       

(7)0μ
× = = ¾²¼± Ãw

¾²¼± Ãw ´Ãw ¾²¼± Ãw ¾²¼± Ãw
´Ãw

 

=   

             

  . ¾²¼± Ãw  (1 )     ´Ãw

0    :  (7)   (6)0
0

2 1
4

μ
= μ

μ ρ
¾`ÃQ

¾²¼± Ãw
¾`ÃQ u¶

 

01
2

μ
=

ρ
¾`ÃQ

¾²¼± Ãw
u¶

 

7
0

8

10 12 5 10 250
2 10 1

−

−

= μ = × =

ρ = × Ω =
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→

u¶ ¾`ÃQ

 

7 4
4

8
1 10 12 5 10 10 5 10 52 250 2 10

− −
−

−
× × ×

= = × =
× ×

¾²¼± Ãw

(100  98  :   -2 ) 

----------------------------------------------

(  ) «3» -119

             

 (3 )       .      

          (1)   (5)

  (1 )  (4   )  .       

     (1)    (2)     

 .   (2)     (1)    

:       (1)     

 
          (1)   (5)  (2)   

5       22     =

3  .4            

.       

(97  96  :   -2 ) 

----------------------------------------------

(  ) «4» -120

:        

.          (

           (

.  

       (

 .        

..     

            (

           

.           .

(103  101  :   -2 ) 

 

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     28 

 
(  ) «3» -121

            

         = 273 + θ

9 325 θ +:  =

:  

18
4 273 4

θ − θ =
= θ + θ = θ

0

0 0

97
9115 115 32 2395

θ =

θ = = + =
 

:  

180

4 273 4= θ + θ = θ
θ − θ =

0

0 0

85
967 67 32 152 65

θ =

θ = = + =
 

(85  84  :    -1 ) 

----------------------------------------------

(  ) «1» -122

              

:    .    212  32   

 

32 0 40 32 40 32 24212 32 260 40 180 300
− − − −

= = − =
− − −

 

= 32+ 24 = 560

:        

5609 9 932 56 32 245 5 5
== θ + ⎯⎯⎯⎯→ = θ + θ =

400524 9 3θ = × θ =

:            

400
3 40273 273 286 33

θ=
= θ + ⎯⎯⎯⎯→ = +

(85  84  :    -1 ) 

----------------------------------------------

(  ) «1» -123

  = Δ = 12αΔ

  = Δ = 13αΔ

0 009 11
1

2
3

Δ =αΔΔ = ⎯⎯⎯⎯⎯→
Δ αΔ

 

1
1

1 1

2 0 0060 009 3
Δ = Δ =

1
100 %0 6Δ  = × =

(93  91  :    -1 ) 

----------------------------------------------

(  ) «1» -124

(*)0
0

Δ
Δ = β Δθ Δθ =

β
¸ü»n

¸ü»n ¸ü»n ¸ü»n ¸ü»n
¸ü»n

 

= 0+ += 0 Δθ Δθ¸ü»n ¸ü»n ¸ü»n ¸ü»nJA JA JA JA

0
0

0
0

=ρ

Δ
⎯⎯⎯⎯⎯⎯→ Δθ + ρ × =

β¸ü»n ¸ü»n

¸ü»nà¾õMHn
¸ü»n ¸ü»nJA JA JA

¸ü»n

 

0ΔΔθ + ρ =
β

¸ü»n
¸ü»n ¸ü»nJA JA JA

¸ü»n

 

1

http://forum.konkur.in/
http://konkur.in/


  29 «1402  4 »   

5
4

924 2100100 4 2 10 0
7 10

−
−

×
× × Δθ + × =

×
JA 

0 0= −66 = θ2 − 95 θ2 = 29ΔθJA

( )   .  290

(100  99 93  :    -1 ) 

----------------------------------------------

(  ) «2» -125

:  = × Δθ  

4 31 3 4
Δθ Δθ Δθ

= × = × =
Δθ Δθ Δθ

 

4 223 3= × = × =

(99  96  :    -1 ) 

----------------------------------------------

(  ) «3» -126

                

    .         

               

:  

Δθ = 0+ = 0 + ′gÄ q±Î q±Î

θ − θ1 = 0+ ′ q±Î

0 050 0 1 120
336000 840

′= θ = θ =

= =
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→

q±Î

 

× 336000+ 50× 840 0−120 = 0

400 = 6000 = 15

2

      80     .  15     

:      20   15   

0 = 15 = 75gÄ gÄ

= + +

(106  104  :    -1 ) 

----------------------------------------------

(  ) «3» -127

′̧ §¶o¬ q±ÎJA

′ = Δθ + Δθ + Δθ q±ÎJA 

′ = 4×900× 60 + 2×4200× 60 + 3000× 60

′ = 900

 900  3
4        

  1200            

:   

1200
600

1200 2600
′=
=

′
= ⎯⎯⎯⎯⎯→ = =

(102  100  :    -1 ) 

----------------------------------------------

(  ) «3» -128

     :     1000

1000 nIhM 10 → 1000 JA 10

1 = − 1 1 = −10×2268 = −22680

     21       

 21:    1000

 0 oÿÅ  gÄ 21 →0 oÿÅ  JA 21 → 1000 JA 21

2 = 2 + 2 Δθ 2 = 2 + Δθ

3
2

0
0

336 10 21

4200 100

= × =

= Δθ=
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     30 

3 3
2 = 21×10− 336×10 + 4200×100 = 15876

3         

804   

:    

1 + 2 + 3 = 0 −22680+15876 + 3 = 0

3 = +6804 = +6 804

.       6

(108  100  :    -1 ) 

----------------------------------------------

(  ) «2» -129

:  

 (

.            (

              (

             

              

.

            (

.         

(117  111  :    -1 ) 

----------------------------------------------

(  ) «2» -130

 

= = 00 = 77pI¬

= 6 1pI¬

:        2    

2
2 2

2 1 2 12
1 1

2 4
= π

= =
= π

 

4           2       

.   

 

= 14 11′pI¬

6 8×10 = 13 6×

             

:        

ρ = ρÍÄI¶ ÍÄI¶ ½¼Ã] ½¼Ã] ½¼Ã]

= 5

= 0 +

½¼Ã]

= ′pI¬ ÍÄI¶

= 77 + 5 = 82

9 9 932 4055 5 5= θ + Δ = Δθ = Δθ

2250 225Δθ=ΔΔθ = ⎯⎯⎯⎯→ Δ =

1 1 2 2 1 1
1 2 1 1

77 6 82 14
225

× ×
= =

+
 

33 1 + 7425 = 82 1 7425 = 49 1 1 151 5

0
1 = 273 + θ1 = 151 5 θ1 = −121 5

(123  117  :    -1 ) 

 

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     31 

 
(  ) «1» -131

.   ( )  ( ) 
:   

             (
.    

            (
.  

(90  89  :         -3 ) 
----------------------------------------------

(  ) «1» -132

:  
.            :  
           :  

.   
.           :  

.           :  
(88  87  :         -3 ) 

----------------------------------------------

(  ) «3» -133

2                   

3.  
 .        :   

.          
(96  93  :        -3 ) 

----------------------------------------------

(  ) «2» -134
−= =

·¼Ä

nIM nITiIw ®iHj oÅI¹ø SÃÎoË  Ì¼ \¶

32 −

− nITiIw ®iHj Ákº ¼ÃQIº »  Ákº ¼ÃQ − ®¨  Ì¼ \¶ 

:  
             (

.   2
4 4 2

+ − → 
4

= −4 = 4× 6 + − 32
= 2×2 = 4 4

−

.    4  = 4
= 4× 6 + 6 − 32 = −2       (

 (

15  5  3 4 6 32
−

= − = × + − =
SÃÎoË jHk÷U

 

= 4× 6 + 5 − 32 = −3       (

2 3
4 3 4 2

− →+

3
2=

·¼ÃUI¨   nI {

·¼Ãº A  nI {

(88  :         -3 ) 

----------------------------------------------

(  ) «3» -135

−   = 4 2 2
22 18 3 4

−   = 8 6 2
26 18 3 4

:  

.         :     (

:   (
15350 16670

<

  (−:  
48

j

>
¯¼Î

 

j

>      :         (
¯¼Î

 

:  (
4 517 9

>

j

<      :     (
¯¼Î

 

26 22      :   (<

        

:   (
48

>

.     <       (

(88  87  :         -3 ) 

----------------------------------------------

(  ) «1» -136

:  

95       (

96       (

         (

.         

3

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     32 

95       (
96       (

(96  95  :        -3 ) 
----------------------------------------------

(  ) «1»  -137

   1700           
     =         

.
(96  95  :       -3 ) 

----------------------------------------------

(  ) «1» -138

            
    .        
      (...   )   

          
.   

(92  :        -3 ) 
----------------------------------------------

(  ) «3» -139

:  

2          (   
.     

             (
  )          .  

.         (
(       )      (

.       

   (2+:       
2 2

22
+ 3 

2
20 4
(88  87  :         -3 ) 

----------------------------------------------

(  ) «2» -140

:  
.         (

 (

   −              (
.  

.         (
 (

(89  87  :         -3 ) 
----------------------------------------------

 
 

(  ) «3» -141

3 2 2
4 2 3
2 3

→
+

ýoË oÀ ÁHkTM H nj ¼¶ nHk£¶

         9 4 + 2 + 3 = 9  
         .   8

2         .      

3  2  2   :      

3 2 2
4 2 2 3 3
2 3

+ − −
+

 

4 + 2 + 2− + 3 − 3 = 8 = 0 5

2 1
3 3

2 2
2 2

3

2 0 5 3 1 5 1
4 1

−− ×
= ×

+
 

2
4 2

2
1 5 1 5 1 5 1 5 1 1 275 5 0 4

−× × ×
= × =

×
 

(103  :        -3 ) 
----------------------------------------------

(  ) «3» -142

    (  )      
      .  
        .   

.  
:   

.          (1
           (2

.   

2     (4          

2  .          

(107  106  :        -3 ) 

   -3

SSz¬oM

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     33 

(  ) «3» -143

2   :           

3 2+

3
2 3

3

175200 100 100= × ×

2
2

3

1 1 51× =

2    :(     )     

1
2

1 5 0 752
−= = =

1= 2 = 0 75 −

:        

3
3

3

175200 100 100= × ×

3

1 56 841 1× × =

2             

:            200

2
2

2
1 5 6644= = =

³o]

Â²¼¶ ³o]
 

= 200− 66 = 134k¶I] jH¼¶

84 100 62 7134 ×=Â¶o] kÅnj 

(105  103  :        -3 ) 

----------------------------------------------

(  ) «3» -144

:        

2 2
12

2 4

4 116
−= = =

       4       

.         

2 4 2 2

16 4
1 1

16 4 2
4 4
− +

¾Ã²»H  jI÷U nj  Â²jI÷U  SÊ±ü

kÄk] jI÷U nj  Â²jI÷U  SÊ±ü

 

:               
2 2

22
2 4

4 2 1 4 16 16 64 44 16
+

= = + + = −
−

 

4 2 + 20 − 48 = 0 2 2 +10 − 24 = 0

10 100 4 2 24 10 17
4 4

− ± − × − − ±= =

1

2

27
4
7
4

−
=

=

¡  ¡  ù

¡  ¡

 

2     :     

1
2

74 2 4 1 8754
−

+ ×
= =

2 2 3

(107  106  :        -3 ) 

----------------------------------------------

(  ) «4» -145

.            

(112  111  :        -3 ) 

----------------------------------------------

(  ) «3» -146

2 2
0 32 0 16 0 68
2 2

0 32 2 0 16 0 83

+

− − +
− −

Â±L¤  jI÷U

kÄk]  jI÷U

= 0 15 = 0 075

 

2

2 2
2 2

0 16 0 075 0 085
20 32 0 15 0 17

= − =
=

= − =
¼¶

¼¶
 

.   

(107  106  :        -3 ) 

----------------------------------------------

(  ) «4» -147

:        

3 2 2 3 3 22
5 6 0 0
2 3 3

5 2 6 3 3

+ +

− − + +
− −

 ¾Ã²»H ¼¶ nHk£¶

¼¶  oÃÃûU

ÂÄI¿º  ¼¶  nHk£¶

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     34 

               
          )   

2
3

     :(3
2

=

  %80         2   
:      .     %80    

803 6 1 6100× ==

2

2

6 3 1 2 0 34 4
3 4 8 1 24 4

−
= = =

= = =

Â²jI÷U

Â²jI÷U

 

3
3

3
1 2 4 64
0 3

= = =

(105  103  :        -3 ) 
----------------------------------------------

(  ) «3» -148

:  

      ( 6370  4370

:        
+   

(    )          
.     

    28          (
.     

            (
.       

( )            (
            

     (  )      
. <   .   

(106  103  :        -3 ) 
----------------------------------------------

(  ) «1» -149

            
:      

1 8 1 25 1 81 25
+ =

+ =
=

1 8 0 8 12 25= = =

    2  4       2   

4 0 4   0 4    0 8 42    =

2     50       1  

2   0 5      .     0 5   
           0 8   0 9

.     .    
2 2

0 5 0 5 0 4 0 2

34 0 50 4 0 50 4

0 4 0 4 0 5 0 5 3 1 8 2

+ +

+ + + + − + − = −

 

2
1

0 8 1 8 2 0 10 9 1 8
−= = =

jI÷U  ÁpI¬   ÁIÀ ¼¶  Ì¼ \¶

¾Ã²»H  ÁpI¬   ÁIÀ ¼¶  Ì¼ \¶
 

33
2
4 2

0 2 0 4
2 2
0 5 0 5
2 2

××
= =

× ×
 

3
30 1 0 2 4 3 2 100 25

−× ×= = ×

(105  101  :        -3 ) 
----------------------------------------------

(  ) «3» -150

:  
          (

.   
             (

            

  ↑ =
↓3          

2    2   .        
            (

.             

  ←↑      ←↓        (

 2        ←   ↑  
.

              (

2 )  2          (

3.   
(108  104  :        -3 ) 

 

¾Ã²»H  ¼¶

¼¶ oÃÃûU

+ + − −

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     35 

 
(  ) «3» -151

.      

(  )         

.  

   ...           

.         

(77  75  :     -2 ) 

----------------------------------------------

(  ) «3» -152

                 

.

(81  80  :     -2 ) 

----------------------------------------------

(  ) «3» -153

:  

     (  5)  300      (

.  

2         (.   

2
3 12

0 150

0 01 0 05 4 10150 5
− −

′′−

Δ −
= − = − = ×

Δ
 

1 1 3460 10 6015
− × = − × − ×

6×10−2 −1= 1

 (

3 2
5 10 005 0 052 2 4 5 10200

− −−= = × − = ×

    4  5 1 17 7 65 10 35 104 − − −× × = ×

 (

 65×10− ×200 = 1 53 3
47

2    (.    

(90  86  :     -2 ) 

(  ) «4» -154

:       

8 3 + 3 → 3 3 + 2 + 4 2

:       

3
8 2=

ÂÎo~¶ ¼¶  jHk÷U ÁkÃ²¼U ¼¶  jHk÷U 

3
3=

ÁkÃ²¼U ¼¶ jHk÷U 

3 3 20 4
8 2 3= =

ÂÎo~¶ ÁkÃ²¼U
 

3

2 2

1 6
0 6

=

=

ÂÎo~¶

ÁkÃ²¼U
 

3            

:   

3 3 3

6 +0 9 = 2 5

¾Ã²»H = ÂÎo~¶ + ½kº I¶ Â¤IM

= 1

3 2
0 6 0 6 0 00110 10 60

Δ
= = = =

Δ ×
 

(90  86  :     -2 ) 

----------------------------------------------

(  ) «2» -155

:       

2 2 5 → 4 2 + 2

2 5             .  

.    

2 5 167 2 2× −=y¹¨H»
KÄoò

 

1 167 2 2 0 160 22 4× − × × =

2 5    :     15    

2 5
1 15 1 510

Δ= × =
Δ

 

2

http://forum.konkur.in/
http://konkur.in/


  36 «1402  4 »   

2 5    1/5         2  

.    0 5      .  

(88  86  :     -2 ) 

----------------------------------------------

(  ) «4» -156

2 →      :          

        0 2×50 = 1    5  

       0

5  

1×5 = 0 5    5

:     1

21 5 31× =

      3        3

3 +1 5 = 4 5     

(90  86  :     -2 ) 

----------------------------------------------

(  ) «2» -157

2             2     

2    .:          

2 = 18 6 2 » 2

2
2

2 2

1 0 344 18× =
+

 

2
2

5 1 10 3 2 5 1020 600
− − −Δ

= = = ×
× Δ ×

 

2
= = 2 5×10−5 −1 −1

y¹¨H»

(91  90  :     -2 ) 

----------------------------------------------

(  ) «3» -158

:   

3 + 2 → 2 + 2 + 2

           

 30    .     = 50        

.  = 50    = 20     

2 2Δ 2 = 5 25 − 3 5 ×10− = 1 75×10−

150 20 30 0 560Δ = − = × =

2

2
21 75 10 3 5 100 5

−
−Δ ×

= = = ×
Δ

 

2 7 10 2
2 1

−= = ×

2
27 10 8 75 100 8

−
−×

= = ×

(86  85  :     -2 ) 

----------------------------------------------

(  ) «2» -159

:  

            (

.   

3 + 2 → 2 + 2 + 2

2     <    (.     

             (

 .              

            

.    

            (

.     

(85  82  80  :     -2 ) 

----------------------------------------------

(  ) «3» -160

               

.       Δ   

2 2
2 2

2 0
2 0

+ → Δ >
+ → Δ <

 

(96  93  :     -2 ) 

 

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     37 

 
(  ) «1» -161

4
2

2 8 2 8 −
 

2 2 + 2 → 2 2

2 4 + 3 2 → 2 + 4 2

4 2
2 4

4 4

1 4
22 4 2= × ×

2
2

18 1 61×

2 2
2 2

2 2

1 22 8 22 4 2= − × ×

2
2

18 0 8 2 81 −×

= 3 360 8 2 8 − +1 6 = 3 36 2 24 −0 8 +1 6

24 +0 8 = 3 36 0 8 = 1 12 = 1 42

4
2

2

1 4 1 4 100 50%1 4 2 8 × 

(79  78  :     -1 ) 

----------------------------------------------

(  ) «2» -162

:  

2   :  .     

2        :  2   .   

.          :  

             :  

.  

(82  81  :     -1 ) 

(  ) «3» -163

:  

             (1

.    ...

              (2

.      

2        (32   

22         2      

.      

          (4

            

             

     .       

.    

(73  70  :     -1 ) 

----------------------------------------------

(  ) «3» -164

:  

4       (  (  ) 

.  (   ) 

 (

.             (

4     (+ (    2 )  5   

.  

1

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     38 

 (

 
(98  92  89  :    -1 ) 

----------------------------------------------

(  ) «2» -165

4 +10 33 → 4 3 + 4 3 + 3 2

+ 6 3 → 6 2 + 2 4 + 2 2

:  

 :  

3 2415 12 64 4× ×

3 2

188 15 041× =

4 3115 12 64 4× ×

4 3

80 1 61× =

15 04 −1 6 = 13 44

.          :  

3 2
3 3

1 3
63 10  : × ×

2
2

18 18 3
1 630

×× =

3 2
3 3

1 1
63 6  : × ×

2
2

18 6
1 63× =

 :  

44 20
2 2   = × =

2 2
2

6 2011 6 632 1 1× × × =

 :  

= 0 25

      1
4   

        .  

3 2 4 3 5

            

2 4.  (1)  5 51 =

(81  80  :     -1 ) 

----------------------------------------------

(  ) «2» -166

:  

            :  

.       

 :  

2 2
2 2

2 2

1 240 7 0 628 1= × × =

1

            :  

           .    

.               

0 422 4 8 961
−× =

(76  73  :     -1 ) 

----------------------------------------------

(  ) «2» -167

:       

2 2 7 + 4 + 3 2 4 → 2 2 2 + 3 2 4 + 3 2

8 4 + + 8 → 8 2 4 + 4 + 4 2

≠

http://forum.konkur.in/
http://konkur.in/


«1402  4 »     39 

y¹¨H» nj jH¼¶ KÄHoò Ì¼ \¶

y¹¨H» nj IÀ ½k¹Àj y¹¨H» KÄHoò Ì¼ \¶
 

1 4 3 2 3 3 16
8 1 8 17

+ + + + += =
+ +

 

(83  80  :     -1 ) 

----------------------------------------------

(  ) «2» -168

:  

 (

3 3+ − → + −

22 3 4 + 3 + → 3 4 2 + 6 +

           (

.      

     %2/8       (

.  

             (

.         

90       (

(92  86  :    -1 ) 

----------------------------------------------

(  ) «2» -169

2
2

6
5400 100020 110

+
+ = ¼±d¶ × ×

¼±d¶
 

2
2

2
1 4 5
24

+
+

+× =

2 2
2 2

14 5
1

+
+= ×

2
2

2

95 427 51× =

2
2

24 5
1

−
− +

+= ×

= 9 −

3 3+ − → + −

368100020 1 800¼±d¶ × ×
¼±d¶ ¼±d¶

 

3
3 3

1 1 10170 1
−

−× × =

   − = 10− 9 = 1 −

2 2
2

2

1 1119 1 12
−

−= × ×

= 55 5 2

2
2

427 5 7 755 5= =
³o]

³o]
 

(96  94  :    -1 ) 

----------------------------------------------

(  ) «3» -170

2 3
3 4 2 → 3 + + 2 4

−

26 2 2 6
26 18 183 4 3

− +⎯−⎯⎯→ 

            6

.          24 .

 

3
4

−

 

3 3
4

3 4 2
3 2
3 6 2 24 66

+ −
× + × = 

          

3 4 2 9 9 −= kº ¼ÃQ  pH  ZnIi

3 4 2 3 4 2
3 4 2

1 358 53 7166 −× × =
kº ¼ÃQ  pH  ZnIi

 

(92  87  :    -1 ) 

 

http://forum.konkur.in/
http://konkur.in/

	Az 4 Esfand- 1401- Q1- Ry- 12R
	Az 4 Esfad- 1402- Q2- Ph- 12R

